= ~J ~J ~ - (=1
=28 (8 |: S
= [ [ [ - ¥
Zlg|s|3|" S
= | |7 | & S8
[
50 11799 -
=260 - 1799
-2 180,10
=200 41799 - 180,05 — 180,09
000 17997 417999 ~ 180,05
200 417990 1799 180,01
250 A 17998
300 11978
YV 17990
500 117990 -
= ~ ~ ~J (=1
SRRERRE=R R = =
= (| (| (| — F
%\ = =< O I 8 &=
= | |7 | = S E
s
50 117980 -
=260 17980
20 17990
=200 17980 17983 17989
000 1791 417979 < 1798
200 17963 117975 < 17981
250 A 179,78
30 17998
509 179,63
300 417963 -

= ~l ~l ~l =
R Rl R=JE == = S
= (] (] (] — ¥
X | H = o I S >
= | |7 | S3
2
=500 418028
-1 A 160,28
=10 1 180,53
=200 418028 - 180,46 - 180,52
000 41802 - 180,42 - 180,48
200 418024 180,38 - 180,44
250 A 18041
30 1801
308 180,24
500 418024
= ~ ~ ~ ) =
=28 8|S =
g M M mm 8 —+
2g|z|(z3 " S 3
= | | T | S S &
[=
=500 18010 -
=210 A 18040
=250 A 180,32
=200 418010 180,25 - 18031
000 418016 - 18021 - 180,27
200 418009 180,17 - 180,23
20 A 180,20
30 180,00
07 180,09
o0 418009




